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4. The work function of tungsten is 4.53 eV, [T uliraviolet hight of wavelength 130 nm is
incident on this surface, what 1s the speed of the emitted clectron? {5 points)
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Morays of energy 200 ke are incident on a target and undergo Compton scattering. Caloulate
(a) the enerey o the X-rays scattered at an angle of 507 to the incident direction. (4 pomnts)
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(b} the kinclic cncrey of the recoiling electron. {2 points)
ot Lo
[—j:: E’:—f K. M %—p_f - G_;’tc;t:l—'n&%) ey
lkﬂ o D I'F_ELL"{l

(ch the angle of the reconling electron. {4 points)
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